
Mathematical typesetting with STIX 2

First some large operators both in text: ∭
𝒬

𝑓(𝑥, 𝑦, 𝑧) 𝑑𝑥 𝑑𝑦 𝑑𝑧 and∏𝛾∈Γ𝐶
𝜕(𝑋𝛾); and

also on display:

⨌
Q

𝑓(𝑤, 𝑥, 𝑦, 𝑧) 𝑑𝑤𝑑𝑥𝑑𝑦 𝑑𝑧 ≤ ∮
𝝏𝐐
𝑓′ (max {

‖𝑤‖
|𝑤2 + 𝑥2| ;

‖𝑧‖
|𝑦2 + 𝑧2| ;

‖𝑤 ⊕ 𝑧‖
‖𝑥 ⊕ 𝑦‖ })

⪷ ⨄
ℚ⋐�̄�

[𝑓∗ (
⎰ℚ(𝑡)⎱

√1 − 𝑡2
)]

𝑡=𝜗

𝑡=𝛼

− (Δ + 𝜈 − 𝑣)3
(1)

For 𝑥 in the open interval ]−1, 1[ the infinite sum in Equation (2) is convergent;
however, this does not hold throughout the closed interval [−1, 1].

(1 − 𝑥)−𝑘 = 1 +
∞
∑
𝑗=1

(−1)𝑗{
𝑘
𝑗
}𝑥𝑗 for 𝑘 ∈ ℕ; 𝑘 ≠ 0. (2)


